«Remember: REMOVEAVBLE!

pr— yr7 7. 1<y
| [ — a
Tank volume: aproximately 450 ml = 15 oz j j Y 4
8 C\DI /7 /7 [ / KEP's T3-45 V2 Outrigger Racing Hydro « Freebie PDF 20f2 Templates Version 2.0/2018-03-16 Scale: 1:1/ Paper size: A1 =841 x 594 mm © Design by Niklas Edlund / 2012-2018
3 (3 .
3|3 I
=N :
E :
Fuel Cell Manufacturers: =S I
Walter Barney - Stainless tanks with brass tubes - wjbarney@tds.net E
John Steltzer - Stainless tanks & stainless tubes - johnstelzer@yahoo.com — ! . #1 Removeable rear ski with strakes
lan’s Boats - Welded Plastic tanks with brass nipples - www.iansboats.co.uk - | ';1' 'S"(i'_ljo'p";i;‘;v """""""""""""""""" T T T T T T T T T e «This is a bit more complex to do but it’s well worth the
| IO ) extrawork
! ¥ o - The boat tracks better and handles better in the corners
165 mm (6.5") I I IC _ £l  +Note that the ski is designed to be mounted to the tub with
_ | ettt L Bl 0.7-1 mm (0304 thick double sided tape (removeable!)
8 mm (.31") ! E E N - Keep edges flat and square and don't put too much radius on the corners.
g; -+ |~ E (T T m e » Normally you don'’t need to paint the ski (or ridepads). Personally | just
= -ﬁ] ! use laminating epoxy because then it’s easier to keep the edges “sharp”.
g 3 ! «Remember: REMOVEAVBLE!
3 |
L = |
oA d E — 3—1.5 mm (.06") Aircraft Birch Plywood
26 mm (1.02")
i |_—1mm (.04") Aircraft Birch Plywood
___________________________________________________________________________________________________________________________________________________ : T T T =—1.5 mm (.06") Aircraft Birch Plywood
| Ski strakes are sanded/faded to be flush The ski ride surface is flat — 11.5 mm (.45") [ N [ Il |
A - A Turn-Fin Mount Inserts ! with the ski bottom in the front : :
I « 3 pcs are needed I 40 mm (1.57")
@ Iilill i « Aluminium Bar Stock E Ski strakes: 1.5 mm (.059") thick & 11.5 mm (.45") wide strips of plywood
| - Diameter: 10 mm or (3/8") | p
3.3 mm hole for M4x0.7 Thread + Length: 36 mm (1.42") - it should be slightly longer than the width of the sponson (wich should be around 34 mm) E “““ ST e 5 5 e I YT
- Thread: M4 x 0.7 or 6-32 ! #1 Ski Bottom view X
+ Glue them with slow epoxy I 3 N s
If 6-32 screws -> drill the (3) holes with 3.7 mm (.145") drill bit E | e e
If M4 screws -> drill the (3) holes with 4.2 mm (.165") drill bit E E
t/ Turn-Fin Mount Plate E A
{j} {B « Aluminium Plate Stock (like 7075-T6) or 3 mm (1/8") Carbon High Strength !
« Material thickness: 3-4 mm (1/8" to 5/32") I
« Use either M4 or 6-32 screws E """""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""
« Cut out the printed drawing and use removeable spray glue to attach |
e NN e 2 NP N e 2 e e Y SN NP it to the prefered plate material and use that as a template for drilling I
T Y Y Y YY XYY Y klj/klj and cutting it out. E (e S #2 Removeable standard rear ski
! #2 Ski Top view L + Note that the ski is designed to be mounted to the tub with
If 6-32 screws -> drill the (15) holes with 4.2 mm (.165") drill bit | h - R %7_1 mcrln ('Oz"_’04|21th|Ck doubolledyded tape (remo;:ealc)jl.e!) h
o . PN ! ! = « Keep edges flat and square and don’t put too much radius on the corners.
M4 screws -> drill the (15) holes with 4.5 mm (.1777) drill bit I | I( P = « Normally you don’t need to paint the ski (or ridepads). Personally I just
--------------------------------------------------------------------------------------------------------------------------------------------------- E E E E use laminating epoxy because then it’s easier to keep the edges “sharp”.
! ¥ Y| <Remember:REMOVEAVBLE!
//’ Removeable Ridepads N e
+ Note that the ridepads are designed to be | b
mounted to the tub with 0.7-1 mm (.03"-.04") E
thick double sided tape (removeable!). ! m— 3—1.5 mm (.06") Aircraft Birch Plywood
- Keep edges flat and square and don’t put I
. . . too much radius on the corners. E 26 mm (1.02")
Removeable Ridepads - Aircraft Birch PIyyvood - Normally you don’t need to paint the ridepads |
\ 200 x 40 mm (7.87" x 1.65" ) - 2/2.5/3 mm thick (.078"/.098"/.012") (or ski). Personally | just use laminating epoxy E
because then it’s easier to keep the edges “sharp”. ! 3—1.5 mm (.06") Aircraft Birch Plywood

The ski ride surface is flat

40 mm (1.57")

H=ESS.

Right Sponson
Sponson sides should be planked with

3 mm (1/8") aircraft birch plywood. ~ - - -
All other surfaces should be planked/covered ¥ N\+1.5 mm (.059") plywood sheeting for the ski base -/ ZQ ;Z f N
with 2 mm (.079") aircraft birch plywood. n +1 mm (.039") plywood sheeting for the ski bottom e %
LY __Flat up this point #2 Removeable ski template £
k m
o
\\EL \ +1.5 mm (.059") plywood sheeting for the ski base g
[ =]
[ . . "w . . va . E
1. Flat up this point /+1 mm (.039") plywood sheeting for the ski bottom #1 Removeable ski template £
(o]
o

Y7 T (/7 %<3
HEEES
Al ve
Left Sponson
Sponson sides should be planked with
3 mm (1/8") aircraft birch plywood.

All other surfaces should be planked/covered
with 2 mm (.079") aircraft birch plywood.

D

r
= — The tub deck s flat between these markings but not parallel to the water 1O
- \\\\ ! ! | |
//// - - : : : :
/ —— ! -
! - — ! |
\ - — | |
T — o o I
TNe L - —~ T —. _ . Optional holes for a“Naviga FSR” spec number plate. Lo h o
o T— — R Drill 1.5-2 mm pilot holes in the template - drill holes in [ "
T b the left hand tub side for a M4 threaded instert. Tub-Sides Template b 1 o
— —. r——__ I | / \ " : : ::
Drill 1.5 to 2 mm (.059" to .079 ) pilot holes in template. Rl S e @ @ The tub deck and bottom should be 1.5mm (06 1 | I
Drill 11 mm (:43") holes in tub sides if you are using R e e aircraft birch plywood - if possible cross ply. . o
CMD or BBH motor mount rubbers. Bottom is flat from transom to this point (2 mm kick-up) | © | " TT---o__ T —. T TTe--_ P I




